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.For rough work, the space marked ‘Rough Work
.OMR Answer Sheet is not to be taken out of the

-Kindly check your question booklet and OMR 5

Do not open this booklet unti]
Use of calculator, mobile phone
Carefully fill-in your correct R Number i 1 Series i
the corresponding bubbles failing which lhinofdol?ect Question Paper Booklet Series in the OMR Answer sheet and darken
Handover the OMR answer she R SSwer sheet may not be evaluated.
There are 150 multiple chojce ;:l;g[ after the examination is over. ‘
e I choices a, b, ¢, d with one right / appropriate choice) in the question paper
Select the right / appropriate chojce from th i ton. E

; € op iven in eac estion. Each ¢ answer wi :
Maximum marks for the test are 150, Ptiong given in each question. Each correct answer will carry one mark.
There is NEGATIVE marking in the question
Time limit for the test is 2% hours (150 minutcsj

Do not fold / spoil the OMR answer sheet. Do pot Make stray marks on the OMR answer sheet.

at the (.:mj of question booklet may be used,

Examination Hall. Any candidate found doing so would be expelled from
0 the police. :

nswer sheet before starting answering. Make sure that no page or question
R answer sheet is damaged. If any defect is found in the question booklet or
laced from the invigilator within 10 minutes of the start of examination.

Fhe in\-'igilator
1018 (foy

er, (.25 marks will be deducted for each WIong answer,

the examination and the matter will be reported ¢

is missing from the question booklet or the OM
OMR answer sheet, the same should be got rep

which was finalised in English language first, In case of any doubt in Hindi version of the paper, candidates are expected
to look into the English version of the Paper which shall be considered as final for the evaluation purpose.
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Rearrange the parts of the sentence o
correct sentence. €€ given below which are labelled (P), (Q), (R), and (8) to produce the

The hourglass is
two triangles (P) / in size (Q) / which are
The proper sequence should be :

a) PRQS by SPRQ

equa] (R) / made of (S). SPR

¢c) SPQR d) PRSQ

‘hoose the word which is : ; : :
Ch . nearest in Meaning {, the underlined part in the sentence given below.
A great statesman 1s actuated by love of hisg count
Py S Country.

8) compelled byinduced ¢) impelled d) persuaded
Fill in the blank in the following sentence with the most appropriate word.

Several of our players were injured, so oyr lusing the match was almost

a) necessary b) indispensable ¢} inevitable d) inexcusable
Choose the right option which has words relateq in a similar way.

PREAMBLE : STATUTE : :

ﬁ' prologue : novel b) movement : sympathy c) sketch : drawing 47 index : book
Identify the wrongly spelt word :
a) accommodation b) omnipresent };ytyrannical d) contemporanous

Identify the part (marked a, b, c or d) containing an error.
Ravi agreed with all my conditions.

(@ () £ (d
For any positive integer n,n’ —n is :
‘a) divisible by 8 b) divisible by 11 c) divisible by 7 d) divisible by 6
HWWEL%%U,, n*-ng:
a) 8 & faursg b) 119 faurss ¢) 79 favm d) 63 favrsa

If one of the roots of 4x? - 3x + k is 1, then the value of ks :

TR dx - 3x + k T Tob e 1 Bk BTAA S :

a) 2 b) —1 0) =12 d) —1/4

Graphically, the pair of equations 6x —3y + 10= 0 and 2x —y + 9 = 0 represents two lines which are :
’ - . = 3 ; \ . .

a) parallel c) coincident

b) intersecting at exactly two points d) intersecting at exactly one point

ST 0 &, RO 1 g 6x - 3y + 10= 0 3 2x -y + 9 = 0 Y Yl 1 wfAAfIe el & S
i, -

) TR b) S QR WIRWE T o) FuRt q) S v fiig R wfade
Which constant must be added and subtracted 10 solve the quadratic equation 9x + (3/4)x — V2 =0 by
the method of completing the square ? T . ¢
i O e ) A g foraa e 9% + (A = N2 = 0 1 g R 3 o i FRRTep Wit
3R TerT ST 91ty 2 ‘

a) 1/8 b) 1/64 ©) 1/4 d) 9/64

Two APs have the same common differcnce'.Tar,lli t?St te.m of one of these is equal to -1 and that of the
other is —8. Then the difference between thelf Elr;,'nns 1953 il 8 . il
21 APs & WA BT SR 21 3 4 T P IE % —1 B IR B iR gwR @1 -8 2 | v an
UG & g H1 AR § : S

a) —1 b) -8

e

&3 : d) -9
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39,

ides AB and A _
I ints on the > C of a triang] " such that AD =2 cm, BD
D and E are respectively the pﬁ’gc_ Then. length Of DE (i, em) is - ngle ABC suc _

=3 ¢m, BC=7.5 cm a1 :
W%McﬁwﬁAgﬁ%%‘%%?f DG?RE@%S’%%AD — > 3ft, BD - 3 ¥, BC ;

- s Q7ft ai} DE || BC a1, DE 5% A
a) 2.5 iz ¢) C

If the point P2, 1) lies on the line segment joiNING pointg A(4, 2) and B(8, 4). then -
Hﬁﬁ@f’(z- ”_ﬁgz‘\(éi. 2.}\3%?8(8.4)3’3” | mi@’ﬁ@ﬂ?ﬁ@ﬁﬁ?ﬁ
a) AP=(1/3)AB b) AP =PB €) PB=(1/3) AB d) AP =(1/2)AB

Ifsin @ +cos 0= V3, then tan © + cot B is ¢
gfe sin@ +cos 8= V3 8, dltan 0 + cot OW%:

a) 1 b) 0 ¢) 2V3 & 113

An observer 1.5 m tall is 20.5 m away from a OWer 22 m high, The angle of elevation of the L.
tower from the eye of the observer 1s

| 5 Hiex daT U Tae® 22 Fex SR TR 4 205 Hiev il g R 2 gdders @ oifE 3 fi R F i

FIIAGI PG : |
a) 30° b) 60° C) 45° d) 152

If a, b, ¢ are the sides of a right triangle where ¢ is the hypotenuse, then the radius, r of the circle which
touches the sides of the triangle is given by, r =

gﬁmb.cﬁﬂqﬁmﬁ’{ﬁﬁﬁﬁﬂﬁﬁaﬁcm%ﬁﬁﬁﬁﬁﬁ@tr'\iﬁﬁﬂiﬁﬁﬂﬂwﬁaﬁwm

=
1

qual to :

a) (a+b+c)2 b) (a-b-c)2 ¢) (a+b+c)3 d) (a+b-¢)2

A cow is tied with a rope of length 14 m at the corner of a rectangular field of dimensions
20 m * 16 m. The area of the field in which the cow can graze is :

TS A I 20 m * 16 m [AHIS] 9T TP AR DA S I m '
@aﬁa?m%aq;r = TR 14 m el I8 T Siyr T 21 Ty R

a) 144 cm? b) 169 cm? ¢) 77 em’ d) 154 cm?

;(r); draw a pair of tangents to a circle which are inclined to each other at angle x°, it is required to draw
gents at the end points of those two radii of the circle, the angle between which is :

%ﬁa%ﬂque%f%@aﬁmqg T4 & fR ol U R & x° P10 R b 8, gl &1 3 & Broarad
fag WWW% e g, e ol B BT E :
2 9:3-_ : b) 90° +x° c) 180°-x° d) 180°+x°
= 3 A7
L ei]c;:e I?}?ET:le l}s1 i the shape of 3 cylinder of diameter 0.5 cm with two hemispheres stuck to each
: ngth of entire capsule js 2 cm, The capacity of the capsule is :

% qa1-HSge 0.5 T - - :
wﬁﬁ?ﬁ‘;ﬁm%ﬁgmﬁmmm%wmmmamw@a@@

a) 0.36 cm’ b J _
. J 0.35 cm3 3 : 3
The algebraic sum of the dey ¢) 0.34 cm d) 0.33 cm

.- 3 ations of 5 frequency distribution from its mean is always :

‘ i il - ber  d) less than zero

fepdt Nzero  ¢) non-zeronumber  d) a

D AR g g AR

A gitl calculates that the pmbqf‘ﬁw ¢) TR-I g= d) A DH

sold, how many tickets hag shi' ;i:l?ggf rI; ®f Winning the first prize in a lottery is 0.08.If 6000 tickets are
T TS TIUR Tl & o ey . i ' i
€ a“ﬁwﬁﬁwﬁgﬁmmwaﬁaﬁﬂmﬁmoos 13f 6000 fepe ST

a) 40 Byn
P A b) 249 = A A &890

PN
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A student adds barium hydroxig
St
oiition gives the balanced o 10 hydr OChlonc acid to form a white-colored barium chloride. Which

fﬁ%ﬂzﬁqﬁﬁ{ 0 &1 aﬁ'qq a;a:n ation of (e reaction ? :
%lﬁ?mﬁmuﬁﬁmmw m%ma@a@ﬂ?@eﬁmmm
a) HCI + Ba(OH): — BaCl, + 2,0 SR afteor ol

5HCI + Ba(OH); — BaCl ¢) 2HCI + Ba(OH); — BaH: + 2HCI + O,
b) 2+ 2H,0 d) HCI +2Ba(OH) — 2BaCl, + 2HOH + O,

Which of the following salts does NOT contain water of Crystallization ?

a) Blue Vitriol b) Baking Sod. .
a ¢) Washing Soda ¢ Gypsum
Profafad 3 € &y 9 o ﬁ?ﬁ%amqmmq-@gm% ?
a) ﬂﬁ'ﬁ'ﬂﬂ b) ﬁfﬂmwﬁa iR et d) fomam
Food Cans are coated with tin and not with zi /h
ne b(,(,’lu“!e zinc i1s/has :

a) costlier than tinX : igher melting point than tin
b) more reactive than tln-g( d) Ieb‘- reactive than tin%
T & el R o7 Y B 1 ot & = 6 Ry . iifer Rie
a) RAQTEME o) 1A ¥ 3ifie e 8

by e & ifire sifvifbarshie & d)ﬁq:aar{a{ﬁrfammﬂa%

Whlch of the following belongs to a homologays series of alkynes ?

EEIRIEH 7 A DI TepTs (ﬂlkynes)'ﬁtfa?wrfﬂﬂ (homologous) m@m% 9
C¢Hs, C2Hs, C2Ha, C3Hs

a) CeHe - b) CHe c) C2Hy d) CsHs
Which of the following elements has 2 shells and both are completely filled ?

) Helium b) Neon Calcxum d) Boron
ﬁyﬁf@aﬁ@ﬁmaﬁﬁﬁraﬁwtbhem)%amﬁq%f tﬁg’q%?
a) HIGEL] b)
What are the products obtained by anaerobic respiration in plants ?
a) Lactic acid + Energy ¢) Ethanol + Carbon dioxide + Energy
b) Carbon dioxide + Water + Energy d) Pyruvate
et Sramdie 21 R AT S N E 2 __
a) aﬁ'ﬁ@g.{.aﬁﬁ Bc) Eﬂ?ﬁ+ﬁéﬂ3@3{m+m
b) FTE STZHTHIES + U + Sl d) UIEFdT
The gap between two neurons is called a(n) ©

) Axon b) Dendrite ) Impulse d) Synapse
E{’[Hﬁiﬂmmeumm) F W'@T@Waﬁ
2) TEEH b) ST1EC c) o d) R
AIDS is a deadly disease which is caused by 8
a) protozoan b) fungus ¢) bacterium &y virus
USH(AIDS) U U1 I &, Gﬂﬁﬂﬂimm%
) TSI b) D ) iy d) aTRE
From the list given below, select the character which can be acquired but not inherited :

b) colour of skin ~ ©) texture of hair 1 —d) size of body
e &} 71 gt & 3 0T (character) mmﬁm%ﬁmmm% ﬁﬁr—rmmaﬁﬂé’ffham%
a) G BT b) @ 11 ) P (texture) .y TR BT HBR
A concave lens has focal length of 15 o At r‘:":‘;ﬂ ‘?}agce should the object from the lens be P@ﬂdw&
that it forms an image at 10 cm from the lens’ o %in the magnification produced by the lens.”
e o a3 wia gl 15 9 ) g ! miﬂmwwa@wmaﬁﬂ% 10
307 ot g e e e T 2 8 T ST Tl B |

+0.30 £30em; - 033 d) 40em;-033

a) 30 cm; +0.33 b) 33 cm;

a) colour of eyes
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51.

52,

&

of an object formeq 9

;2 smage
In which part of the human eye is the R T
a) iris b) pupil - Etm%a d) cornea
UG e e v o 9 3P "

a) MRy b)

An electric iron consumes energy alh’fl i
is 220 V. What are the current and the

U fagygd $% 840 waﬁﬂﬁ:ﬁﬁfﬁmm%mmaﬁwamﬁm%lmzmv

&1 e R yfaRiy T g ? | 58

a) 382A;13415Q  b) 5.02A; 57.69 )3B2A:576 Q0 d) 1.64A: 134150

Appliances that have a metal body are gcncm”)’ COnncctcd- to the earthing wire. The reason for this is to :
€) provide extra current to appliance

a) prevent excess of current d) g : : _
b) prevent the leakage of current Provide high resistance to the appliance

foF Suseon | U@H’ﬁw (metal body) ﬁ_‘:ﬁ% d ST ?hTtR Grfﬁ"T(ear{hing) aER g @é aﬁal SHdB]
BRUE :

40 : ol :
rate of :Cc ')W When heatmg 1s at the maximum rate. The voltage
ta -

a) BT B UG P! APH & T ©) BBV ! 3ifafiad Bie uam #33 F o
b) BC F REE FI A9 F U d) STHI0 DY Fe Wity ver e  forw
Kitchen wastes can be hygienically disposed off_through :

a) Duniping _b¥ Composting ¢) Incineration d) Recycling

YIS & SR P! w1 S (b H1e Y AU S §harg 2

a) SATERI b) PERITERT o) WefleRUgRT gy SR eR

Which of the following statements is FALSE.

a) An electric motor converts electrical energy into mechanical energy.

b) An electric generator works on the principle of electromagnetic induction.

¢) The magnetic field at the centre of a long circular coil carrying current will be parallel straight lines.

A A wire with a green insulation is usually the live wire of an electric supply.

ﬁﬁmﬁﬁ@ﬁiﬁ;mﬂmﬁﬁ » :

a) Wﬁlaa‘ﬁil gide Iaa\'ﬂa m'ﬁﬁm |

b)) g?ﬂggaaﬁaﬁagaggﬂuﬂw%ﬁ@gmm%% e

¢ DR HUSH! YRT Yalfed &3 aTell PP & GHHTGR @ g
d ﬁw%mwmmmﬁaﬁﬂaﬁmmwmm%i Ll

Infant Mortality Rate indicates the number of children that die before the age of — . - 8sa
proportion of 100 live children born in that particular year.
a) four years ) one year c) two years d) three years
RISy 92X 39 fardry anf 3 iy & '

‘ . 100 Sfifqq q=f & U & U J - :
mﬂaﬁﬁmﬂmmg i | ot
a) IR Hd b) U HrH o) A d) 9|

Which of the following is an example of ¢o] lateral ?

- a) Li
) Livestocks b) Land ¢) Deposits with banks 5 All of these

; JeER & 7
)T b) fey o) T HUETAER o) Awd

Wl:i:f; z:;:; if:lizzvoi:;ge s NOT a factor £, determining the develop_mfnt of a country 7
§/i‘ts average literacy Jeye| ;ry?;a;?piztgs of lﬁ ._ peoplg?

B e L '
b) ST ST WeRaT Ty o) D S Bl e Ry

P-I

— o

Hindi Set—D ~ Page-6

T




s4. The most common route for invest
. . Mentg
a) setup new factories
b) buy existing local companies e form partnerships with local companies
d) none of these

2 R 3 3 SIS g gy |
) 0 TR IR Frirg 3 forg gt om AT &

by MNCs in countries around the world is to :

' : ufa & ot
p) Aol R STl B wdem %gﬁ@%ﬁﬁ e
Which of the following states i \ d)
55. i g s : s in Indig enjoys g Special status ?
a) An | hra Prades | ) Kerala _¢f Nagaland d) Uttara Khand
56. Accountability to the citizens is the most basic gutcome of :
a) Theocracy b) Autocracy Loy Democracy &y Socliem
O CAR: 8 GRS EIC T I O - 5,
a) YHdH (Theocracy) b) TTFTRIE! o S 4
% Gmnt following two statements on power sharing and select the answer using the codes given
below :

P. Power sharing is good for democracy:.
Q. It helps to reduce the possibility of conflict between social groups.

a) P is right but Q is wrong ¢) Both P and Q are wrong

/H] Both P and Q are right d) P is wrong but Q is right
wﬁmmm-aﬁﬂmm-ﬁmmﬁmmﬁmmmwgﬁm
p. T 3 RIS A & [T SRl
B.%Wﬂq\ﬁﬁﬁamaﬂﬁmaﬂmmﬁmm%

2) P IR B AP QA € ¢) P 3R Q &I TTad &
b) P 3R Q &M HEl & d) P IER § b Q W ©

58.  The state of Rajasthan is very well endowed with solar and  _ energy but lacks in water resources.
4) Geothermal b) Hydro _&y Wind d) Tidal
Wﬂwﬁ?m__miﬁswwmmﬁﬁuﬁ%ﬁﬁﬂwmﬂaﬁw% 1
a) TG b) S ¢) e d) SaTE (Tidal)

39 The freshwater is mainly obtained from surface Tunoff and groundwater that is continually being
renewed and recharged through the : :
\}f sulphur cycle , ,bg’\rock cycle L‘33./1"13“1{0'logical cycle ,%one of these
Al U Bl 5@l U Y Hde! ayarg 3R YT B T faar siar @ o AR Fid(renewed) 3R
g faear o1 @1 % :
a) ST Th o by e ek H ¢) FRSAREATE Y d) T A DIS Tl

60. In which one of the following states is 1€rTace cultivation practiced ?

~) Punjab b) Plains of Uttar-Pradesh ¢) Haryana d) Uttarakhand
ﬁaﬁfﬁ@aﬁr%ﬁmmﬁwm@?ﬁaﬁwﬁ%?
a) UoTTd b) Gﬂ?-ﬁﬁfa;m ©) TR d) IS
61. Which one of the following type of gesqurcc, i§ 1roN ore .? . e
a) Renewable /!Q’,Biﬂﬁc 7 Non-renewable d) None of these
e 3 5 TR BT YA © ? N b o
a) TAIHRUT p) Sifd® ) SFFdidRROl

d) Eﬂﬁﬁﬁﬂ g

< ik




62. By which vision, the people of the world 3% EPAas digtincy 1o igentified through their flags

and national costume. 3 ﬁﬁs— _
a) Absolutist b) Plebiscite d) Utopian

f5u ey 8, g el B T IS mw%ﬁﬁmﬁmﬁmﬁm@
e ks el . |

2) PR b) FAHA & c) %ﬁ d) gz‘rfﬂlﬂr

Which of the following gave unbridled powers ‘“ EoVernmer tto arrest and imprison suspects, without

trail ? ..

ﬁgm@aﬁ_gﬁﬁmmwﬁmmwﬂ%mﬁmmmwmﬁﬁm

m'ﬂm ? '

2) mmm b) 1853 Wmﬁ '_'4“) YR T a{ﬁﬁ'qq, 1858 d) ﬂﬁ'&'ﬂﬂ%’, 1919
64 Which of the following statements are TRUE 2 ha ?

47 Satyagraha is not a physical force:

b) It is the weapon of the weak.

a) GTIE BIg g

b) € HHURI P18
65, In the mid-six

a) a1 b)
66. What was the posit
 a) First

63.

a) Ueell
67. Achinta Sheuli
~with which sport 2




e

73.

74,

7.

76.

5

78.

19.

a) 1929 : Y7 f¥g 3 Jee e )
b) 1930 : TZHA HHITH Ugeft Wﬁ'ﬁ%ﬁﬁm ;; gfﬁq%ﬂgiﬂﬁﬂﬁmﬂaﬁ

What was the theme of Punjabls tableay i g biic Day Parade 2022 at New Delhi?

a) Jallianwala Bagh Massacre £ Sangat and Pangat

b) Martyrcliom (IJf Guru Teg Bahadyy I ;)} Contribution in Freedom Struggle

7% el A TTorc e WYs 2022 B ST a8t gy Fr 01 12

a) SICIATATe ST §AThIS e ST IR

b) 7% T SEIGR Sft I WeTa 4 A I H AR

Which country has the most powerful passport in the world, as per Henley Passport Index 2022 2

a) France BYUSA ¢) Japan d) Australia

2T UTUIC ST 2022 & HTHR G ey qrfraedt UGN fod SR BT R 0

a) WY b) YT ¢) S d) e fer

Who was the first Indian actress to receive the padma Shri award ?

a) Madhuri Dixit A Nargis Dutt c) Bhanumathi Ramakrishna d) Meena Kumari

o7t PR T A @it Ygelt YRelty siftyr) a1 ot 2

a) TIER e b) R g o) HAARITAIGEN ) HTFw

R.K. Narayan created the virtual region known as :

a) Malgudi A Wessex ¢) Waverly d) Lake District

31 TRV STHIRAT & 1 FAmfor oz, g et smar @ -

2) ATHEN b) 30T o) Jadf d) ua fefgae

How many members of Lok Sabha and Rajya Sabha are elected from Chandigarh ?

0,1 ey 1,0 £y 1.2 dy 0,2

Which Indian state was the host of the FIFA U-17 Women’s World Cup in 2022 ?

a) Karnataka _ _~b) Haryana ¢) Odisha d)~Madhya Pradesh

I 37S -17 Afge 3% B, 2022 PT HSS YA BI B 91 I UT 2

a) PACH b) BR@mom ¢) Siifewm d) HHAUC

Which institution launched the guidelines to identify mental health in school going children ?

a) NITI Aayog \by Union Health Ministry ¢) NCERT d) National Testing Agency

a) SR  b) Fel TR HA o) THEIMRA o) AP uieorToRiT

What was the theme of the ‘International Day of Peace’ 2022 2

a) End racism; Build peace ¢) Equality and Inclusivity

b) Anti-casteism for Peace ~47 Humans for Peace

SfeRTSTa ifey faae 2022 o oy &1 41 ?

a) RAIE WA X e T A0 Rl AT SR FHRT

b) it 3 forg sifare e ) et e

Which airport has been named after Indian ﬁ'eedon:: ‘)ﬁght_er g;haggft Siqg;h_?- e -._-a;‘E:,:‘..
~%) Chandigarh International Airport Goa International Airport .

d) Sring e =
b) Jaipur International Airport ) Srinagar International Airport

a) 9TE 3 gaTs 3] °’33‘“°ﬁ?f€mea1€3i§1 .
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85.

86.

87.

2

Ak award for the year 2090 ¢
Who is the winner of the Dadasaheb Phalke ) ¢ }
{assan €) Asha Parekh A 'Nawazuddin Siddiqui

) Raiirits ]('llﬂﬂ] Hasse awazuddin siadiqu
) Rajinikanth b) Ke Eﬁq%}

ay prazancdl :
) %ﬁmmﬁ Fd §u ©) SR URE d) Tare e Rt

11 ~~rtinu€ the same matia . :
Choose the correct alternative that will contintt Sdme pattern and replace the question mark in the

giyven series,

) ey Y o e et ) o < 91 41 T e 2w o o et e
24, 60, 120, 210, ?

a) 300 b) 336

An alphabet series is given with missing terms as shown by (?). Choose the missing terms out of the

c) 420 d) 525

given alternatives.

wmmﬂﬁ%mﬁﬂﬁﬂam%{?)mmﬂm%l f&u e famedt o @ g ya)
&I g | @

) RIS N R ) R R

a) G, H b) P,G ) R,G d) S,R

Lion is related to Prowl in the same way as Bear is related to :

a) Frisk b) Lumber c) Stride _Bound

g R Riz #19ag W (Prow!) T &, SH UBR U HT I6G ¢ :

2) free @ b) TR G c) EFSH d) IS

In a certain code, FIRE is written as QH0?:&1%gj@v\I’EI Following the same rquof coding,
what should be the code for the word OVER ? - VF@ & £ M0

U% [Af3d ®IS |, FIRE &I QHOE 3R MOVE $I ZMWE & ¥ ¥ foraT St 8| ¥ & It Fam &1
T8 $3d §Y, OVER ¥/eg & foTU IS &1 &1 Tl 2

a) MWED .,b)/MWEO ¢) MWOE d) MWZO

Pointing to a gentleman, Deepak said, “His only brother is the father of my daughter’s father.” How is
the gentleman related to Deepak ? :

a) Grandfather b) Father ¢) Brother-in-law 8 Uncle

Fhg 3% ".E.‘q%f'ﬂ SR AR A §U gy g1 SPadl IS A 3¢ & fire o1 e & 1 Tt a1
I HEY § 2 i

P b) fo ) Sftell d) P

Kunal walks 10 kilometres towards North. From there, he walks 6 kilometres towards South. Then, he
wa}ksf kilometres towards East. How far and in which direction is he with reference to his starting
point

a) 5km West b) 5km North-Eagt  ¢) 7 km East d) 7 km West

U IR B 3R 10 freifies e 3| am 3 3R 6 fepaiiEicy Taar 81 fex, 98 o @t
IF CoreansN s ) 1 L1, tur SEE r _'and '+ ' means "X, then ;
I+ BT 4,y apef o Brapf — AR @ xR

(36 x4)-8x4 ’ 7z

4+8x24+16+-1  °

g, A ) 12 ek



A, B, C, D and E called the Problem fi

88. The following question consists of five f _marked £ y gur
followed by four other figures mark;:l(’(gggl{l;eb[g‘_l and (d) called the Answer Figures. Select ﬁgu?z
from amongst the Answer Figures whiclf wih continue the same series as established by the given
Problem Figures.
frafaf@d us # A, B, €, D 3R E fRifgq i qiftral € e PRI Il 8 3R 395

B,C., D 3 E o i g b
T8 IR 37 BRI (a), (b), (©), MR (d) R & o S &Wﬁﬁgﬂ% | SR Mpfedl & § u
a@%mwﬁaﬁaﬁ@mwmmﬁﬁmﬂm” Tt |
: Answer Figure / TR Gl'l'cp'f?[
Problem Figure / SH¥T 3THia o gy :
X = Ql|= SX=6=O§{ =ﬂ =05=Os*x==5j
oAsixodr ¢sixTplwps [X*P"***S—Qx*
A B C D E (a) (®) (c) (d)

89.  There is a definite relationship between figures A and B [:_'Stah“f*h a similar relationship b‘etween figures
C and D by selecting a suitable figure from the Answer Set that would replace the question mark (?) in
figure D.

My A AR B & f9 1@ T Hau Bl Jee e 8 U@ FUGR TP BT X 31l ¢ AR D
39 T W e RIS S 25 D Ay T (7) 1 IR P |
Problem Figure / Goe0 Pl Answer Figure / IR 3MTpfd
T V] t A DA DA
4P gy T i
o~ | |o &
N P w ® ©
90. In the four figures marked (a), (b), (¢), and (d), three are similar in a certain manner. However, one
figure is not like the other three. Choose the figure which is different from the rest.
IR B (a), (b), (0), IR (d) T, T v Rl % & GHA ¢ TTiiich, U NPT 31 I D1 76
T 21 39 IPla B 999 HIT ST T A B
L4 L & L el o e
Il L) ()
slefs | *I [* X'l e
(a) (b) © ()
91. Identify the relationship between the two words, and then from the given options, select one which has
the same relationship as of the given two words.
Snake : Reptile : :
a) snake : cobra b) bird : mammal \e¥Wasp : insect d) lion : amphibian
3 et & e wae v, 3R fop g 1 el 3 R v bt wrary ap, o forg v & <l & §HH
HaU g |
W:W(Reptile) ien
a) 99 & by et ; Tt ¢) ol dle d) IR- : FHTR (amphibian)

92, If water is called milk, milk is called bread, qbrcad is called butter, butter is called sky, sky is called

yellow, which of the following a baker bakes -
a) bread b) butter ¢) milk d) water
7 et T oY, A e & @ 1, 3P Whelbakes) € 7 i f
a) S8 Y T O
93. ‘BE’ is related to ‘GJ’, in the same way a5 ‘PS grelated to:

BE G Al 3, SEaRg o ps WA

I UX b) UY ©) Uz

ﬂ
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94.  Find the odd one out ¢) Mosau;
; ‘ Mosquito Butterfl
a] Houseﬂy ?{Spider d) utier )‘J
T 1 g e | e ©) H®Y 0 R
2) L W and father” fit into one of the Venn diagrams (a), (b), (c), & (d).
95.  How three words : “parents, mother 37 (Venn) 3R ( 3T () B Hfifea43d @
30 i sz iy, s A o D, (), ©), 3R (&) HATD '
X
ABDLY™o
a) ) c) d)
=22 . X increases by 40 pgisc every year, while the price of commodity Y increases
96. The prlcc:,‘oi Cf)‘rt'lflu’r:il.ly \' m: rL. 5014, the price of commodity X was T 4.20 and that of Y was T 6.30.
by 15 paise cyety y“‘:i‘.:f"? :v]iTI:JO .t 40 paise more than the commodity Y 7
in which year commodity b L
8 o B T do O 1 9T € €. ST A v Y i A g e 15 DR A A 21
L o Y P 2 6,30 0, 0 R 7 v x ) e 7 v
Tfe Fret 2014 8, T X DI PIAT X 4.20 6.30 4, aH X e Y
40 T 3ifdres g1l 2
a) 2023 b) 2024 €) 2025 d) 2026
97 Water boils at 212°F or 100°C and melts at 32°F or 0°C. If the temperature of a particular day is 35°C, it
is equivalent to (in °F) .
Tt 2129F 4T 100°C UR IS & IR 329F A1 0°C TR e &1 af faeht fadm o=y &1 Ao 350 @,
A TE CFH) P TR T :
a) 85° b) 90° ¢) 95° d) 99°
98. Company C sells a line of 25 products with an average retail price of ¥ 1200. If none of these products
sells for less than ¥ 420 and exactly 10 of the products sell for less than I 1000, then what is the greatest
possible selling price of the most expensive product ?
HUF C 2 1200 F e Gax] e P WY 25 el @) U Ui sEdt 81 A 37 A PIS o I
2 420 A A 7 fapa & SR 31 10 SIS < 1000V H7 F A9 §, 0 F9 AT IATE I SHUHIH
Tyg St Fd R 2 _
a) T 2600 b) T 3900 ¢) < 7800 d) T 11800
99. A man bought some eggs, of which 10% are rotten. He gives 80% of the remainder to his neighbours.
Now he is left out with 36 eggs. How many eggs he bought ?
U@ Sl 4 $9 318 T O A 109 9 gu &) a8 W BT 80% AT TSR P 1 21 3 JHb
U 36 38 &4 €| IT fobe 312 @
a) 40 b) 100 ¢) 200 d) 72
100. 6 }ileabl: :ig(‘), the ratio _caf the _a;ges of Kunal and Rayi was 6 : 5. Four years hence, the ratio of their ages
w;ﬁqﬁ?l[ : 10. %3;;18 Ravi’s age (in years) at present 7
6 , DU 3R F 317 a5y | 9 STE, IAP! MY PT A 11 : 10 81T |
UM 6 . 5o | IR Y STG, P! AT PT SI 11 :
ﬂéﬂlﬂﬂ?ﬁ?ﬂéﬁg@ﬁﬁ)m%? £
a) 16 b) 18 ) 20 d) 22
101. An alloy of gold and silver weighs 50 ¢ | 8 o4, wold. How much gold(in gm) should be added
to the alloy so that percentage of gold 1gs i;‘fomal:;s Bg (/]? ';go . : ;
4 reased to 90 ° =
3 O el 1 0 e 1 1 57y ey 2 g 0% S B 1 PRt e e o
) frretrar ST <R A T, 37 g i _
TG 90 Bl oiME ! i
a) 30 40 o) 50 d) 60
102. A train leaves Ambala at 6:00 am gnq i Sae Another train leaves Delhi at 8:00 am
and reaches Ambala at 11:30 am, A4 “1?’ gach-es Delhi at 1.0-.00 mcmss g e ease
' 1at time do the two tratns Ciess bl
P-1 ==k Page - 12
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103.

104.

105.

106.

107.

108.

109,

Te 31 AT A YT 6:00 T Propereh o gl feel UET € | U 30 3 R & vy .
ﬁ?ﬁ?ﬂ%aﬁ?11;3t}ﬁmq§ﬁ§|®g[%ﬁﬁﬁmﬁa@lmm%? N o
a) 9:00am b) 7:36 am - c) 8:56am d) 9: 56 am

Two taps A and B can fill a tank in 20 minuteg 4nd 30 MIDUES: respectively. An outlet pipe C can empty
the full tank in 15 minutes. A, B and C are opened allcmam-el}’. each for | minute. How long will tank

take to be filled (in minutes) ?
T A IR B T ) B HE: 20 e oy 30 FFE H TP | T HM9Th TR € R Ty
15 fyre # @l R ahd 2| A.Bdﬁ?cﬁaa:ﬁtlﬁiﬂﬁmwamaﬁ | fre & Rioard.

i Fare e | 2 B Ra gy @ () ?
¢) 167 d) 180

: 1 :
of the time, B IVests = of the capital for —;- of time and
rofit of T 4600, B’s share is ;

a) 105 b) 120
In a partnership, A invests é of the capital for%
C. the rest of the capital for the whole time. Out ofap
. - 1 3
e A, A, - H e @ 2 Py 3 8, B T @1 - TS R gt L frdr
m%ﬁvc,ﬁm@ﬁwq&m%ﬁﬂﬁﬁwm% 124600 % AHH Y B B XTI

a) <650 b) T 800 ¢) 960 d) T 1000

Computer A takes 3 minutes to process an input while computer B ti‘lkt‘:s 5 minutes. If computers A, B
and C can process an average of 14 mputs in one hou, how many minutes does computer C alone take

to process one input ?
HUER A T TTYT P WG S J 3 FireTe o7 g il € s & ?‘B@SWWWW%I
FEIER A, B 3R C TS 2 B SGaH 14 390 31 HIGE PR Wehd &, l PUILR C 3l Th FYE Bl

qfe R A

TR &3 & fbaa e sTamg aane 2

a) 4 b) 6 c) 10 d) 12

Anu is 10 miles west of Rita. Ravi is 30 miles north of Rita. Anil is 20 miles east of Ravi. What is the
distance (in miles) from Anu to Anil ?

3, a1 9 10 s ufEm 7 &1 M, a1 @ 30 Mo AR o, FAF 20 HA g A 81 37 A 3w et

e e 2
a) 10 b) 30 c) 30vV2 d) 10¥13

The simple interest on a certain sum of money after 10 years will be ¥ 600. If the principal is trebled
after 5 years, what will be the total interest at the end of the tenth year ?

10 98T & aTe; 3t MR IR FTeRO) &1 2 600 B A Tefer 5 a9 & e aar e, a
%94 gy & 3fd H pol ST a1 ghm 2 A LR Y
a) % 600 b) T 900 ¢) 1200 d) T 1500

A father left a will of ¥ 16400 for his two sons aged 17 and 18 years. They must get equal amounts
when they are 20 years of age, at 5% compound interest. Find the present share of the younger son.

U T 17 3R 18 a8 Y 3y F ST & G b R0 2 16400 Y ]
kil G i kbl R D T

a) T 8000 b) T 8200 ¢) I 8400 d) T 8800

If the length of a rectangle is halved, while its breadth is tripjeq i e in
e g pled. What is the percentage change in its

a) 25% increase b) 50% increase ¢) 50% decrease d) 75% decrease
T2 foref o it e omeht R Y W, TP SHEY s o vy g _

s T 'q“lﬁmzll 9 gama d fba A
a) 25% B1 gG b) 50% 1 3 ©) 50% Bi d) 75% @} Sl

=



gth, breadth and height of the

110. The length
] bread ay e 1 1 + .
th and height of a cuboid are in the ratio 1 : 22 3. The len 0 imes the increase o

o , ok
uboid are increased by 100%, 200% and 200% respectively. Then how m
volume of the cuboid s -

U YT B ofars, Seré ol S & 1:2:3%1Wﬁﬁﬁﬁ,mmmﬁm:
100%, 200% 3%120(1'!4,@33@@??[%,?ﬁﬂ ¥ o H fae T g BT 2

a) S b) 6 &) 12 d) 17 |
111, Which of the following Media belongs to ‘Contrived Experiences’ as per Dale Edgar’s Cone fJf Learning ?
_-&Y Pictures b) Models ¢) Demonstrations d) Audio Recofdmgs
%ﬂq@ﬂ%ﬁ?%aﬁﬁ%wﬁﬁmﬁﬁ@rﬁ?mmﬁﬁﬁm (Contrived
Experiences) '@f Hefea % ?
a) o b) AlEd ¢) WexH d) aiffear ReieT

112. Which one of the following is required for a good communication by a teacher in tht_a class room ?

larity of thought ¢) Speaking in a mild tone
7 Dramatic Presentation d) Speaking without pause

A TE ST 3 o G ¥ fore i 3 fhae afraxaeal €1 € 2
a) FER &Y suFa b) ATCPHIE A o) B TR AT d) [ EE A

113. Students’ performance can by enhanced when they lea_m b){: . :

a) seeing b) listening c) imagining \Mmg by hand

ST % yasH P 9 T o Fehe & e 3 FETEd & R e €

2) ST PH b) GIATD o) BEAIES By T T IS (doing)
114. A scoring guide used to evaluate the quality of students’ performance is known as :

a) rubrics , b) checklists ¢) inventories Ay ratin g scales

I & UG P UGN bl Hedich-1 T & A7 SUGHT &1 714 el WHITT S beard ! ¢ :

a) Tfoic b) S g ¢) S d) e e

115. Using ‘realia’ in the language class means bringing :
\@)/éaj life situation to communicate "
real objects as teaching aids :
realistic objectives and targets for the learners
informing parents about real level of child’s learning

st &t F ‘R (realia) BT AT S FT 3 2 -
a) HaTg & & fo1¢ Ao sitgs & R
b) e gt & wu # arafde aeqd

o) Rugnffat & feme gurdardt 32wy ot weg
d) w-ﬁmﬁﬁ%@aﬁ%wﬁwm%aﬁﬁqﬁﬁm

116. Which of the following is the better item of essay type question ?

a) Discuss F orce;( ¢) What do you know about Force ?
b) Explain the concept of force with ope example(_ " Write a note on Force.
ﬁg%@aﬁﬁaﬁwﬁwﬁ&um%wmmmé? |
| ¢) & P TN H 1Y FT T & 2
b) @ﬁwﬁwmmwm, d) 9 R T e fafEu)
117. Continuous comprehensive evaluation i -
&) continuous testing 3 '

b) end term evaluation ¢) assessment of learners while learning

d) periodic conduct of exams

efel T i &
a) g = : _

: i o) e 3 an Rl 1 e
b) an%mmaft‘{mrmm ,.1 ﬂi‘aﬁm sl



118. As a teacher in the classroom
: d » You hay, . - e student has i
associated with : € notjced that 0n¢ = S some reading disorder, It is

_ ' Dyslexia d,}\ Dyscalculia
Fer ¥ U Wed & FUH, e : =
i T} s g o 31 61 H PO IR T Tg g
a) fETmitean b) SRy o) R d) ST

119. During teaching, a teacher’s statements h _
: i e students to elaborate o i ‘
own or that of others is called : P Pasipgys b

) Problng{ | . S Engagement in learning process
b) Instructional variety d) Structuring

Rer01 & TR, U 14D & U I B @} aq 71 g8 P I D! fAgd $ & o e s

%, 39 ﬁﬁ T
a) e c) Fﬁ'@ﬁ a’ﬂmuﬁ v sd
b) &[ﬂ'&'ﬂﬁqﬂ; fAf3e@ (Instructional variety) d) S

120. Out of the teaching appr oaches listed below, identify the individualized approaches :

(1) Demonstration melfhod &nﬁ Personalized teaching (v) Collaborative method
_f) Programmed learning (iv) Modular approach based teaching

12 geftag Rieo SUFTHI A & SAfekTa SuRTH 1 TeE X

(i) e faf (i) SATRTE &0 (v) TEaTES R
(i) PG e ) Hieer eI TR fRIgwn
A 0, (), () sy (i), i) () o Gi), (vh () @ @), G K

121. A teacher uses a lot of positive and negative examples in his presentation in the class. This is related to
which level teaching :

a) Memory level ue’)/f{eﬂective level
b) Autonomous development level d) Understanding level

e Riere He A AU T 8 9gd 8 FPRED IR TH RIS ISR &1 YT el ¢ | T8 s
a) Wid TR b) SEE REEER o) feid W d) I TR

122. Which of the following are called behavioural rather than “attitude and belief” related competencies for
becoming an effective teacher ? _
(i) Communicating i) Managing & monitoring  (v) Evaluating and feedback
(ii) Locus of control (iv) Teacher enthusiasm
T T e w3 Forg Fraeriae 7 & 8 <o IR FRyayrer  Feifire qaferafl o ST HTAER

PRI ?
() TR RTfud (iii) e 3R TR (v) ngtaa‘-{amum

(i) Tz &1 RIF (iv) T8 e
. >a % : ”_/' i /
a) (i), (i.i)’ ()X b). (i1), (iid), (iV)/‘( A %? (1.1ﬁ' (v) d) (if), (iv), (v)
123, The ability to use learnt material inyanew siuaion 05 & student torgebis e prbleet 1 called :
a) knowledge by application ¢) analysis d) synthesis |
R
o g o g e e e RS e e el R

. Jlil 2 1_“‘;.



25t10NS whic
r2 Fthe list given below. identify S questions which are cajleq process rather than content based
124. Out of the list given below,

. - d} I,
questions : i based questions

) Fac (v} open questions

i quc;tiom ’}::l} concep! based questions (W) closed guestions
(i) divergent questions (e e c
. 'aﬁwﬁﬁ%'aqqa‘ﬁ &lﬂﬁaému@:—maﬂmﬁawmmg?
i) ST T (i) e (v) HHITY
) g]g'qﬁﬁz'a{r s (iv) AN Uy A
(11)

by G, &K D ey g (). (i) & Giix

i), (iv) & (v) =, a B
a) (i), (1v -th teaching _i,|tdll.

ol L i e
llowing is/are relate ' =
125. Thegl;o ;: b ai! writing \;}Vlﬁ;‘f)c}uﬁmg a topic in classroom
a) Black-bo g e
b) Asking questions

Profafad e e:
a)m-@?é&g?m ) FHTEAT <) P H 5t Rawarreg o1 ot 3 d) Tt

126. RFID stands for :

_af Random Frequency Identification c) Radi'o Frequency Information
b) Random Frequency Information ﬂz Radio Frequency Identification
HRTP. 1 Y ( RFID) BT 3§
a) TS IGRUETH ¢) ST safy g
b) TTEfRI® STafy Gel d) FET gy ugam

127. Firewall examines each that are entering or leaving the internal network.

_aJ connections b) data packets ¢) emails users d) updates
BRREA TS 1 W€ BT & o AR Fegd HYAY IR R ETBSR
a) PR b) Sellde c) SHE JWENB  d) 3USe

128. Which of the following term is used for creating web pages ?
98 0 7 3 fore FafRiie 3 e wieg a7 s oo e 22
a) FTP A7 HTML ¢) HTTP. d) URL
129. Which of the following is an address that specifies the location of a web page ?
MR 7 3 1 91 g 2 o e St 3 ey ) PN T 22
& URL b) DNS ¢) HTML d) HTTP
-’? 130. For displaying hyperljnk fields in a word document in Microsoft Word, you can press :
RGNS 38 3 0 Steite  Sraurfeies oy Rl e 0 RIG, ST G WA
a) Cirl + Shjﬂ tFkey by Curl+ Al key ¢) Shift+F9 d) None of these
?—13 R ofthe following keys are used 1 e s SRR o MiGROROR Wicel 7
Waﬁﬁﬁéﬁaﬁma;ﬁqﬁgﬁﬁﬁ,—ﬂ?@&mmmﬁmm%?
g e b) Ctrl + o) Alt+1 AFEL0
Hh iR PSSROIA, the shortoy g inset a new slide between the curret presentaton is:
’"355'*”? < HIaRU1SE H Fefeyysy uﬁﬁ[%qu&mmﬁaﬁm‘féﬁfﬁ&m 2
)}-‘F}tz‘l +N B)Col + ¢ 5 Cul+ M d) Ctrl+0
133; NWhicmok th:;?;mg ﬁmc“";in Microgog Excel tells 'aﬁﬂﬁt mmber df,nmﬁé entnes_'f :
Tz i %ﬂqmwﬁwwﬁmﬁaﬁﬁm%?
o # NUM() b) COtmm. | e



134. In Microsoft Excel, multiple calculationg can be made in a single formula using :
a) Standard Formulas b) Array Formulg Mumpiex Formulas d) Smart Formula
e e BRI BT iy g 7% TOFNE P1 o IR E |
a) FFEH b) TR o) Sfed d) I

135. Which key can be used to view Slide show 9

weEe T 2 T e Bofltkey) 1 Iz fasan o 941 € 2

a) F5 b) F2 ; d) F9

) s sy F7 o
?36. Which function will be used to enter current time in a worksheet cell ?

i e B BEE TR UeR B b Ry Ryt 1 SRIHIC (e SITQTT 2

a) =currentTime() b) =time() 9 =now() _Hr=clock
137. Junk e-mail is also called :
_a¥ Spam b) Spoof ¢) Trash d) Spool
Feida® I HeI S =
a) WH b) B o) B d) @
138. Which term identifies a specific computer on the web and the main page of the entire website ?
a) URL b) Web site address ~ ¢) Hyperlink ¥ Domain name
aﬁqmmﬂamwmmm'wmﬂiwwaﬁwm% 7
a) URL b) I TEEHITG ) TRRAD d) SHH M
()39. What does the Function key, F12 do when you are using MS Office ?
) a) Open 'Save As' Dialog Box ¢) Displays 'Save' Dialog Box
b) Shows 'Open' Dialog Box d) Opens 'Font' Dialog Box
S T THT STRFEMS Office) BT GUANT HR 1@ B dl hakH &1, FI2 @ &R 8 ?
a) ﬁﬁﬂwmﬁaﬁ‘ﬂ‘@ﬁm% c) ﬁ‘s’@é‘f@a‘smﬁﬁﬁﬁaﬂﬁ'@ﬁﬁ%
b) 3T ST Siad e & d) T ST Siaw B! €
140. Which among the following is the incorrect E-mail address ?
ProfifEa & § S 9 oA S-Aa T8 ?
va)-ashook kr@gmail.com &y kamalkr@yahoo.com
@est@soluﬁonﬁd}l www.gurprem.com
Q. 141, 75 fifemr fe frgar wdar e & AMG@ER 691 3 |
%) TIeW & &St b)) ugew c) st d) 3HaF
9 142, fegst fed faoe Fae o waisd &6 AEfES ad! -
: _a) wRfoA T PRI ¢) maEfa d) e
143, ‘we mee fan A3 o Efas
a) T III Sy b) foATEa &< Lﬁﬂmaﬁe ﬂm@ﬁﬂ'w

144, ﬁamﬁa,mw@maﬁvﬁlwﬁ“ﬁ“’ﬁmﬁﬂwmﬁ?
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(Samagra Shiksha, UT, Chandigarh)

Date of Written Test : 10-12-2022

Provisional Answer Key - Set D

Q. Answer Q. Answer | Q. Answer | Q. Answer | Q. Answer
No. No. No. No. No.

1. D 31. D 61. C 91. C 121. D
2. D 32. C 62. D 92. C 122. C
3. B 33. A 63. D 93. A 123. B
4. A 34. A 64. D 94, B 124. A
5. D 35. C 65. A 95. B 125. D
6. D 36. B 66. C 96. B 126. D
7. C 37. B 67. A 97. C 127. B
8. B 38. B 68. B 98. D 128. B
9. A 39. D 69. D 99. C 129. A
10. C 40. B 70. B 100. A 130. D
11. A 41. C 71. D 101. C 131. B
12. D 42. D 72. C 102. C 132. C
13. A 43. D 73. B 103. D 133. B
14. B 44, D 74. A 104. B 134. B
15. B 45. A 75. B 105. B 135. A
16. D 46. C 76. C 106. C 136. C
17. C 47. C 77. C 107. C 137. A
18. A 48. A 78. A 108. A 138. A
19. D 49. B 79. A 109. B 139. A
20. B 50. D 80. C 110. D 140. D
21. D 51. B 81. B 111. B 141. A
22. B 52. D 82. B 112. A 142. B
23. A 53. D 83. B 113. D 143. C
24. B 54. C 84. B 114. A 144. B
25. C 55. C 85. D 115. B 145. A
26. B 56. C 86. B 116. B 146. C
27. D 57. B 87. A 117. C 147. B
28. A 58. C 88. B 118. C 148. C
29. C 59. C 89. B 119. A 149. B
30. D 60. D 90. C 120. B 150. A




